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1. Use 4 control points (PO = [1 2] P1 = [3 -4] P2 = [ 4 -3: P3 = [74] ) to sketch an "n" degree

Bezier curve, when

a. n = 0

b. n = 1

c. n = 2

d. n = 3

e. n = 4

in a graphic area provided. Report at least 4 coordinates the crrve passes through along with the

associated "U" S•
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2. The following cubic Bezier curve "A" is constructed from the control points in Question 1.

What would the control points ofthe second curve (curve "B") be in order to smoothly

connect {up to (2 continuity) with the curve "A". Show details of your calculation.
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3. Explain in detail how the object "D" can be transformed to perfectly fit in the slot "B".

Point Coordinate Point Coordinate I

B1 (2,2) D1 (6.7321,9)

62 (2,4) D2 (5,10)

B3 (6,2) D3 (10.7321,15.9282)

B4 (6,4) D4 (9, 16.9282)
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4. What would the equation of the curve "A" in Question 2 be after rotation about an axis

parallel to Z by 35 degree and the center of rotation is [-42].
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5. Briefly answer the following questions.

a. (2) What does STL stand for?

b. (2) Why do we need to convert our CAD file 10 an STL format before sending out to a

rapid prototyping machine?

c. (3) What does STL files look like? How is it dlferent or resemble with an original CAD

file?

d. (3) What is the most influencing factor in the RP process to control product

accuracy?

e. (5) Name one of the RP systems commerciall ~ available today and explain how it

works.
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6. From the articles presented in the classroom, summarize the advantages of CAM in

comparison with conventional methods.
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